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X (W~ What does a Production Possibility Curve indicate ?
ol SR iR R fo e

ce of good X increases the demand for good




AT ATV E ST AT T e

Market

(S 15

- Government




¥  What is a budget line ? Why does it slope downward ? 1+1=2
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4. If a unit tax is imposed, how does it impact the short-run supply curve of

a firm ? Show with the help of diagram. -
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5 What is “break-even point’ of a firm ? At which point of the AC curve, a

firm under perfect competitioh breaks-even ? irl=2
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ﬁ./ ~ What does price elasticity of supply miean ? Briefly explain. A 2
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e What is a monopolistic competitive market ? 9
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8 Discuss four features of indifference curve. 4
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Define and draw average cost and average variable cost curve. Why these
1y

two curves can’t touch each other ? 3+1=4
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12. What do you understand by returns to a scale ? Write the meaAning of

constant, increasing and decreasing returns to scale. 1+3=4
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()~ What is production function ?
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18.

1Y

21,

What is investment multiplier ? If Rs. 200 crore increase in investment
increases income by Rs. 800 crore, then what will be the value of investment

multiplier ? 1+1=2

Riffizatel el 2 Jficg 200 IS Sia R 3 @i 800 i 51 I T
(orT RiNce v g [efa w4t |

Write the differences between ex-ante investment and ex-post investment.
2
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Mention two points of superiority of Selective Credit Measures over

Quantitative Credit Control Measures. : 2
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Write fwo differences between revenue expenditure and capital expenditure.
2
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What do you mean by devaluation of currency ? How does it affect the

import of a country ? ' 1+1=2
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? Tustify
Define GDP. Can GDP be used as an index of welfare of a country ]1uf;1__f_i
your answer. ; =
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How does the central bank use its quantitative credit control measures tz
control inflationary situation of an economy ?
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Write a note on ‘demonetisation’. 4
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What is a Deficit Budget ? Why a deficit budget is considered beneficial
than a surplus budget for a developing economy ? 1+3=4
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Mention four differences between Direct taxes and Indirect taxes.

4
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26. (i) What is balance of payment? : -
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(i) What are the two main components of balance of payment ? 1
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What is aggregate demand ? Discuss the components of aggregate demasndé
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